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1 T8 EF = |BRsyEER 36650 | 1890.0| 5000 500 0 0 0 0| 400: 400 0 o/ s510: 510] 400: 200 0 0 0 0| 280 140 0 0| 280 140
EILE = |BRsyEEK 3665.0 | 17750] 500: 500 0 0 0 0| 400: 400 0 0| 510 510] 400 200 0 0 0 0 0 0 0 0| 330 165
9 BER EE | —f% (FI2EEE M 28450 | 1695.0 0 0| 400: 400 0 0 0 0| 690: 690 0 ol 700: 350 0 0 0 0 0 0| 510. 255 0 0
FE Hig — % |[FIZEENE M 28450 | 1150.0 0 0] 160: 160 0 0 0 0] 690: 690 0 0 0 0 0 0 0 0 0 0| 600: 300 0 0
3 INE —F B |[BBRsrEER 25700 | 13400 400 400 0 0 0 0| 280 280 0 o[ 330 330] 2000 100 0 0 0 o[ 220 110 0 0| 240i 120
15 BN = |BERyEEK 25700 | 12300] 300: 300 0 0 0 0| 280 280 0 0| 330 330 300i 150 0 0 0 0| 100 50 0 0| 240 120
4 INE —F B |[BBRsrEER 25200 | 13400 400 400 0 0 0 0| 280! 280 0 o[ 330 330] 200i 100 0 0 0 o[ 220! 110 0 0| 240! 120
KHEE = |BERsyEEK 25200 | 1180.0| 300 300 0 0 0 0| 220i 220 0 0| 330 330] 200 100 0 0 0 0| 220 110 0 0| 240: 120
5 BER EE | —f% (FI2EEEAM 24400 1695.0 0 0| 400: 400 0 0 0 0| 690: 690 0 ol 700: 350 0 0 0 0 0 0| 510 255 0 0
e BX — % |[FIZEENE M 2440.0 745.0 0 0| 400: 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 690 345 0 0
6 INE —F B |[BBRsrEER 24100 | 13400 400 400 0 0 0 0| 280! 280 0 o[ 330 330] 200i 100 0 0 0 o[ 220! 110 0 0| 240! 120
BEH =MW = |BERyEEK 24100 10700] 300: 300 0 0 0 0| 220 220 0 0| 330 330] 200i 100 0 0 0 0 0 0 0 0| 240: 120
7 hiE k= B [ LEXHEER 24000 | 1185.0 0 0 0 0 0 0| 340: 340 0 0| 600: 600 0 0 0 0 0 0| 160 80 0 0| 330 165
ik Bat B [ LEXHEEK 24000 | 12150 0 0 0 0 0 0| 340: 340 0 0| 600: 600 0 0 0 0 0 0| 220 110 0 0| 330 165
8 N e B [ LEXAEER 23650 | 11150 200: 200 0 0 0 0| 220: 220 0 0| 420: 420 0 0 0 0 0 0| 220. 110 0 0| 330 165
211 IR B |FEXERER 23650 | 1250.0| 200; 200 0 0 0 0| 220 220 0 0| 420 420] 300 150 0 0 0 0| 100 50 0 0| 420 210
9 211 IR B |REXERER 23000 | 12500 | 200i 200 0 0 0 0| 220 220 0 0| 420 420] 3000 150 0 0 0 o[ 100 50 0 0| 420 210
N B |REXERER 23000 | 1050.0 0 0 0 0 0 0| 220 220 0 0| 420: 420] 300 150 0 0 0 0| 100 50 0 0| 420 210
9 18 BN = |BHsyEEK 23000 | 12300]| 300: 300 0 0 0 0| 280. 280 0 0| 330 330 300i 150 0 0 0 o[ 100 50 0 0| 240! 120
BEH =M = |BHyEEK 23000 | 10700] 300: 300 0 0 0 0| 220 220 0 0| 330 330] 200i 100 0 0 0 0 0 0 0 0| 240: 120
1 INE —F B |[BBRsrEER 22700 | 13400 4001 400 0 0 0 0| 280 280 0 o[ 330 330] 2000 100 0 0 0 o[ 220i 110 0 0| 240i 120
L — i [BBER 2270.0 930.0 | 400: 400[ 220 220 0 0 0 0 0 0 0 o] 400: 200 220i 110 0 0 0 0 0 0 0 0
12 BE EW = |BEHsyEEK 22500 10700]| 300: 300 0 0 0 0| 220. 220 0 0| 330 330 200i 100 0 0 0 0 0 0 0 0| 240! 120
XHEE = |BEHyEEK 22500 | 1180.0| 300 300 0 0 0 0| 220 220 0 0| 330 330] 200 100 0 0 0 0| 220 110 0 0| 240: 120
13 H EA X |[fERXZE 2200.0 9700 | 600 600 0 0| 220 220 0 0 0 0 0 o] 300 150 0 0 0 0 0 0 0 0 0 0
8 K X |[ERXZE 22000| 12300 600: 600 0 0] 220: 220 0 0 0 0 0 0| 600: 300 0 0| 220 110 0 0 0 0 0 0
14 B2S X = |BEHsyEEK 2175.0 9950 300; 300 0 0 0 0| 280. 280 0 0| 240; 240| 200i 100 0 0 0 0 0 0 0 o| 150 75
KHEE = |BERsyEER 21750 | 1180.0| 300 300 0 0 0 0| 220 220 0 0| 330 330] 200 100 0 0 0 0| 220 110 0 0| 240: 120
15 w=iE B3 X |[fERXZE 21700 | 14300 700: 700 0 0| 280: 280 0 0 0 0 0 0| 500: 250 0 0| 400: 200 0 0 0 0 0 0
Kk 18 X |[ERXZE 2170.0 740.0 700 70 0 0] 280: 280 0 0 0 0 0 0| 500: 250 0 0| 280 140 0 0 0 0 0 0
16 AH# B K |ABXKE 21250 1360.0| 400: 400 0 0| 340 340 0 0| 510; 510 0 0 0 0 0 0| 220. 110 0 0 0 0 0 0
Ke Fil —i% |TEVESR 2125.0 765.0 0 0 0 0 0 0 0 0] 510: 510 0 0 0 0 0 0 0 0 0 0| 510 255 0 0
17 e HiE | —A% (FI2EEEAM 1960.0 | 1150.0 0 0| 160: 160 0 0 0 0| 690: 690 0 0 0 0 0 0 0 0 0 0| 600: 300 0 0
kE N | /% |FI2EEEAM 1960.0 810.0 0 0] 160: 160 0 0 0 0 0 0 0 0| 700: 350 0 0 0 0 0 0| 600: 300 0 0
18 8 K X |[fERXZE 1950.0 | 12300| 600: 600 0 0| 220: 220 0 0 0 0 0 ol 600: 300 0 0| 220. 110 0 0 0 0 0 0
=H ZN X |[ERXZE 1950.0 720.0 0 0 0 0| 220 220 0 0 0 0 0 o] 600: 300 0 0| 400: 200 0 0 0 0 0 0
18 Wik X K | ABXKE 1950.0 | 1005.0 0 0 0 0| 160: 160 0 0| 420: 420 0 0 0 0 0 0 0 0| 340: 170 0 0| 510 255
IR UMD | X |BRXE 1950.0 945.0 0i 100 0 0 0 0 0 0| 420: 420 0 0 0 0 0 0 0 0| 340: 170 0 0| 510 255
20 F BEAX K | KE 19450 11650] 300 300 0 0| 280 280 0 0| 420; 420 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
=T & K | AMKE 1945.0 780.0 0 0 0 0] 280: 280 0 0| 420: 420 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
21 JINE 5K —f% | EBER 1920.0| 10000 | 500: 500{ 220 220 0 0 0 0 0 0 0 o] 400i 200 160i 80 0 0 0 0 0 0 0 0
BEXE — % [BBER 1920.0 9200 | 500 500[ 220 220 0 0 0 0 0 0 0 o] 400: 200 0 0 0 0 0 0 0 0 0 0
92 KH# B K |ABXKE 1860.0 | 13600 | 400: 400 0 0| 340 340 0 0| 510; 510 0 0 0 0 0 0| 220. 110 0 0 0 0 0 0
2% HA — % [ AL E{+EOB 1860.0 5000 | 400 400 0 0 0 0 0 0 0 0 0 o] 200: 100 0 0 0 0 0 0 0 0 0 0
23 &8 EH K| HIIKE 1850.0 9800 | 200: 200 0 0| 400: 400 0 0 0 0 0 0 0 0 0 0| 340: 170 0 0| 420 210 0 0
R EN K | HIKE 1850.0 870.0 | 200. 200 0 0] 400: 400 0 0 0 0 0 0| 200: 100 0 0| 340: 170 0 0 0 0 0 0
94 KH# B K |ABXKE 1780.0 | 13600 | 400: 400 0 0| 340 340 0 0| 510; 510 0 0 0 0 0 0| 220. 110 0 0 0 0 0 0
AT BN X |ABXKE 1780.0 420.0 0 0 0 0] 340! 340 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0




25 INK EKR | —RR (BE 1760.0 880.0 0 0| 100: 100 0 0 0 0| 420: 420 0 ol 300: 150 0 0 0 0 0 0| 420. 210 0 0
BT EE | R |RETRSEREE]| 17600 880.0 0 0| 100: 100 0 0 0 0| 420. 420 0 o] 300: 150 0 0 0 0 0 0| 420 210 0 0
2 N TR B [ LEXHEER 1755.0 | 11150] 200: 200 0 0 0 0| 220: 220 0 0| 420: 420 0 0 0 0 0 0| 220 110 0 0| 330 165
W E B | LEXHEEK 1755.0 640.0 0 0 0 0 0 0] 220: 220 0 0| 420: 420 0 0 0 0 0 0 0 0 0 0 0 0
27 SRR —f% | EBER 1715.0 7850 | 200 200{ 220: 220 0 0 0 0 0 0 0 ol 400: 200 0 0 0 0 0 0| 330 165 0 0
L — % [BBER 1715.0 930.0 0i 400 220 220 0 0 0 0 0 0 0 o] 400: 200 220i 110 0 0 0 0 0 0 0 0
28 2SS BX = |BEHsyEEK 1690.0 9950 300 300 0 0 0 0| 280 280 0 0| 240! 240| 200i 100 0 0 0 0 0 0 0 o| 150 75
I AEfH = |BEHyEEK 1690.0 695.0 0 0 0 0 0 0| 280 280 0 0| 240: 240| 200 100 0 0 0 0 0 0 0 0| 1500 75
29 B8 & X |[fERXZE 0.0 0.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
fhigE K4 X |[fERXZE 0.0 0.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30 20 [E X |[fERXZE 1550.0 580.0 | 100 100 0 0| 220 220 0 0 0 0 0 o] 300 150 0 o[ 220! 110 0 0 0 0 0 0
H EA X |[fERXZE 1550.0 9700 | 600: 600 0 0| 220 220 0 0 0 0 0 o] 300 150 0 0 0 0 0 0 0 0 0 0
31 Big 0 K | MEEXE 1530.0 765.0 0 0 0 0 0 0 0 0| 600 600 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
Bl B K | UMEEKE 1530.0 765.0 0 0 0 0 0 0 0 0| 600: 600 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
32 N TR B [ LEXHEER 14900 11150] 200: 200 0 0 0 0| 220: 220 0 0| 420: 420 0 0 0 0 0 0| 220 110 0 0| 330 165
KR R B | LEXHEEK 1490.0 3750 | 200: 200 0 0 0 0 0 0 0 0] 10: 10 0 0 0 0 0 0 0 0 0 0| 330 165
33 B EX K | KE 14650 | 11650] 300 300 0 0| 280 280 0 0| 420; 420 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
W —18 K | KE 1465.0 3000 ] 300 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
34 R EN K| HEIKE 1370.0 870.0 | 200: 200 0 0| 400: 400 0 0 0 0 0 ol 200: 100 0 0| 340: 170 0 0 0 0 0 0
HE B— K | HIKE 1370.0 5000 | 200: 200 0 0] 220: 220 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
35 5 EX 2 |dAmEE 1360.0 830.0 | 300: 300 0 0 0 0| 100 100 0 0| 330: 330] 200: 100 0 0 0 0 0 0 0 0 0 0
EEBEAH | 8 [tANsE 1360.0 530.0 0 0 0 0 0 0] 100: 100 0 0] 330: 330] 200: 100 0 0 0 0 0 0 0 0 0 0
36 I —f% | EBER 1345.0 560.0 | 200 200{ 220 220 0 0 0 0 0 0 0 0 0 0| 280 140 0 0 0 0 0 0 0 0
AR — % [BBER 1345.0 7850 | 200 200[ 220 220 0 0 0 0 0 0 0 0| 400: 200 0 0 0 0 0 0| 330 165 0 0
37 HH k2 —h% |FT A&\ 1330.0 580.0 | 300 300[ 280: 280 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HH iR — % AR TAERIT 1330.0 750.0 | 300 300[ 280: 280 0 0 0 0 0 0 0 0 0 0| 340: 170 0 0 0 0 0 0 0 0
38 &F g —f% |FR2EEIE M 1295.0 550.0 | 400: 400 0 0 0 0 0 0 0 0 0 o] 300 150 0 0 0 0 0 0 0 0 0 0
[RH fE — % P2 EENE M 1295.0 7450 | 400: 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 690 345 0 0
39 Wik X K |ABXRKE 12150 1005.0 0 0 0 0| 160: 160 0 0| 420; 420 0 0 0 0 0 0 0 0| 340: 170 0 0| 510 255
FE e X |ABXKE 1215.0 210.0 0 0 0 0] 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
40 5 EX 2 |dtAmEE 1190.0 830.0 | 300. 300 0 0 0 0| 100: 100 0 0| 330. 330] 200: 100 0 0 0 0 0 0 0 0 0 0
Kk EE 2 |[dAmsE 1190.0 3600 ] 300: 300 0 0 0 0 0 0 0 0] 60: 60 0 0 0 0 0 0 0 0 0 0 0 0
4 2 AE & |[WWMER 1185.0 690.0 0 0 0 0 0 0| 220. 220 0 0| 240: 240 0 0 0 0 0 o[ 220! 110 0 0| 240! 120
FEO #hiy & |[lLMER 1185.0 495.0 0 0 0 0 0 0| 220 220 0 0| 150: 150 0 0 0 0 0 0| 100 50 0 0| 150 75
42 HE EN K| MHEIKE 1180.0 980.0 | 200: 200 0 0| 400: 400 0 0 0 0 0 0 0 0 0 0| 340: 170 0 0| 420 210 0 0
FEE M —f% |71 —/N—F 1180.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
43 ME —1th —i8 mEEoa=7oB| 11700 530.0 0 0| 280: 280 0 0 0 0 0 0 0 0| 500: 250 0 0 0 0 0 0 0 0 0 0
E3 —h% |/ RTIS 1170.0 640.0 0 0| 280 280 0 0 0 0 0 0 0 o] 500 250| 2200 110 0 0 0 0 0 0 0 0
44 =0 Rl — % |BMIEYST 1145.0 2000 | 100 100[ 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i uvA% | —RE ILMSoB 1145.0 9450 100 100 0 0 0 0 0 0| 420 420 0 0 0 0 0 0 0 0| 340 170 0 0| 510 255
45 O EE B |EBXEMEER] 11400 570.0 | 300: 300 0 0 0 0| 160: 160 0 0ol 60: 60] 100: 50 0 0 0 0 0 0 0 0 0 0
He #8A B |EBXEHEER] 11400 570.0 | 300: 300 0 0 0 0] 160: 160 0 0] 60 60] 100i 50 0 0 0 0 0 0 0 0 0 0
46 g1l K& = |ZEREER 1135.0 490.0 0 0 0 0 0 0| 160: 160 0 0| 330: 330 0 0 0 0 0 0 0 0 0 0 0 0
EREE = |ZERER 1135.0 645.0 0 0 0 0 0 0] 160: 160 0 0] 330: 330 0 0 0 0 0 0| 160 80 0 0| 150 75
47 2 AE B |[LMER 1060.0 690.0 0 0 0 0 0 0| 220. 220 0 0| 240: 240 0 0 0 0 0 o[ 220! 110 0 0| 240! 120
EHk Fih & |[lLMER 1060.0 370.0 0 0 0 0 0 0] 100: 100 0 0] 240: 240 0 0 0 0 0 0 0 0 0 0 60 30
48 HH iR — % (AR TAERIT 1050.0 750.0 | 300 300[ 280 280 0 0 0 0 0 0 0 0 0 0| 340: 170 0 0 0 0 0 0 0 0
MR @l — % |— g 1050.0 3000 ] 300: 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
49 k0O #Et K | MEEXE 1030.0 310.0 0 0 0 0| 160: 160 0 0 0 0 0 ol 300: 150 0 0 0 0 0 0 0 0 0 0
EXEA K | UMEEKE 1030.0 720.0 0 0 0 0] 160: 160 0 0 0 0 0 0| 300: 150 0 0 0 0| 400: 200 0 0| 420 210
50 KR Tt — % |— g 985.0 3750 | 200 200 0 0 0 0 0 0 0 ol 10: 10 0 0 0 0 0 0 0 0 0 0| 330 165
\& B —h% |— A% 985.0 610.0 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 400: 200 0 0| 420 210
51 JLH 575h —fi% |TOTOSHL A M 965.0 400.0 | 200 200 0 o[ 100! 100 0 0 0 0 0 o] 200! 100 0 0 0 0 0 0 0 0 0 0
LBz K |[EEAIEXRE 965.0 5650 | 200: 200 0 0] 100: 100 0 0 0 0 0 o] 200: 100 0 0 0 0 0 0| 330 165 0 0




59 2 [E X |[fERXZE 940.0 580.0 | 100: 100 0 0| 220. 220 0 0 0 0 0 o] 300! 150 0 o| 220! 110 0 0 0 0 0 0
FE EN X |[fERXZE 940.0 3600 ] 100: 100 0 0] 160: 160 0 0 0 0 0 o] 200: 100 0 0 0 0 0 0 0 0 0 0
53 HH kK2 —h% BT AEIEE/\1E 930.0 580.0 | 300 300[ 280 280 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Bh & — % |FTEEES/\1E 930.0 3500 | 300: 300 0 0 0 0 0 0 0 0 0 o] 100: 50 0 0 0 0 0 0 0 0 0 0
54 KRG i | AR ESEE 920.0 560.0 | 200 200[ 220: 220 0 0 0 0 0 0 0 0 0 0| 280: 140 0 0 0 0 0 0 0 0
s 3 | ESEE 920.0 360.0 0 0] 220: 220 0 0 0 0 0 0 0 0 0 0| 280 140 0 0 0 0 0 0 0 0
55 KR 1&H —f#i% |STAY GOLD 890.0 450.0 0 0| 340 340 0 0 0 0 0 0 0 0 0 o[ 220i 110 0 0 0 0 0 0 0 0
EREIES —f#% |STAY GOLD 890.0 4400 0 0| 340: 340 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
56 ¥HBETF & |[LMER 870.0 375.0 0 0 0 0 0 0| 100: 100 0 0| 150; 150 0 0 0 0 0 o[ 100 50 0 o| 150 75
FEO #hiy & |[LMER 870.0 495.0 0 0 0 0 0 0| 220 220 0 0| 150: 150 0 0 0 0 0 0| 100 50 0 0| 150 75
57 HE B— K| HIIKE 870.0 5000 | 200: 200 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
BEAR GEARER | K [T KRE 870.0 3700] 100: 100 0 0] 220: 220 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
58 wE B— K | AMEIKRE 850.0 500.0 | 200: 200 0 0| 220; 220 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
#HA Tt X |[ERXZE 850.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 o] 200: 100 0 0| 100 50 0 0 0 0 0 0
50 i B K |BEAXAIEXE 815.0 250.0 0 0 0 0| 100: 100 0 0 0 0 0 ol 300: 150 0 0 0 0 0 0 0 0 0 0
LBz K |EEAIEXE 815.0 5650 | 200: 200 0 0] 100: 100 0 0 0 0 0 0| 200: 100 0 0 0 0 0 0| 330 165 0 0
60 FE B B |REXERER 800.0 400.0 0 0 0 0 0 0| 160: 160 0 0| 240 240 0 0 0 0 0 0 0 0 0 0 0 0
IR EF B |FEXERER 800.0 400.0 0 0 0 0 0 0| 160: 160 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
60 48 g% = |[LMER 800.0 400.0 0 0 0 0 0 0| 160: 160 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
0O = & |[LMER 800.0 400.0 0 0 0 0 0 0| 160: 160 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
60 KK HEE 2 |PEER 800.0 400.0 | 400 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B EA = |PHEER 800.0 400.0 | 400: 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
63 K flith —f% | EBER 790.0 5100 | 200: 200[ 160 160 0 0 0 0 0 0 0 o] 200i 100[ 100i 50 0 0 0 0 0 0 0 0
HE BEE | —fi% [E3EE 790.0 2800 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0 0 0
64 ¥HBETF = |[WMER 745.0 375.0 0 0 0 0 0 0| 100: 100 0 0| 150: 150 0 0 0 0 0 o[ 100 50 0 o| 150 75
EKE & |[LMER 745.0 370.0 0 0 0 0 0 0| 100: 100 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0| 60 30
65 At — = |BEHsyEER 730.0 530.0 | 200 200 0 0 0 0 0 0 0 o/ 60 60| 300i 150 0 0 0 0 0 0 0 0| 240i 120
BE R = |BERyEEK 730.0 200.0 | 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
66 FRAUE | |[TBNF 710.0 370.0 0 o[ 160! 160 0 0 0 0 0 0 0 o] 200 100] 2200 110 0 0 0 0 0 0 0 0
WE iR | —#[SHEAFR 710.0 340.0 0 0| 160: 160 0 0 0 0 0 0 0 o] 200 100 160i 80 0 0 0 0 0 0 0 0
67 BEAR GEAREL | K |[hmHEIIKRE 680.0 3700 | 100: 100 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
R GES K | HIKE 680.0 3100] 100: 100 0 0] 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
68 &0 %t X |[fERXZ 670.0 310.0 0 0 0 0| 160: 160 0 0 0 0 0 o] 200! 100 0 o[ 100 50 0 0 0 0 0 0
FE EN X |[fERXZE 670.0 360.0] 100: 100 0 0] 160: 160 0 0 0 0 0 o] 200: 100 0 0 0 0 0 0 0 0 0 0
68 K flith —f% | EBER 670.0 5100 | 200: 200[ 160 160 0 0 0 0 0 0 0 o] 200i 100[ 100i 50 0 0 0 0 0 0 0 0
LIEE S48t — % [BBER 670.0 160.0 0 0] 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
70 INEF KRR | K |[ABRKZE 660.0 360.0 0 0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0| 280: 140 0 0 0 0 0 0
BREE X |ABXKE 660.0 300.0 0 0 0 0] 220: 220 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
7 A B K |BEEAXAIEXE 650.0 250.0 0 0 0 0| 100: 100 0 0 0 0 0 ol 300: 150 0 0 0 0 0 0 0 0 0 0
JIH Snah K |EEAIEXE 650.0 400.0 | 200: 200 0 0] 100: 100 0 0 0 0 0 0| 200: 100 0 0 0 0 0 0 0 0 0 0
72 REE T&F | & [ LWEXHAEER 630.0 360.0 0 0 0 0 0 0 0 0 0 0| 240 240 0 0 0 0 0 0 0 0 0 0| 240: 120
MR EE B [ LEXHEER 630.0 270.0 0 0 0 0 0 0 0 0 0 0] 240: 240 0 0 0 0 0 0 0 0 0 0] 60 30
73 ®O & B |REXERER 620.0 310.0 0 0 0 0 0 0| 160: 160 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
K B B |FEXERER 620.0 310.0 0 0 0 0 0 0| 160: 160 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
74 EEA &K B [ LEXHEER 605.0 365.0 0 0 0 0 0 0 0 0 0 0| 240 240 0 0 0 0| 100 50 0 0 0 o] 150: 75
SHl F/& B [ LEXHEEK 605.0 240.0 0 0 0 0 0 0 0 0 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
75 il BARER | & |dEAMEE 600.0 3000 | 100: 100 0 0 0 0 0 0 0 0| 150: 150] 100: 50 0 0 0 0 0 0 0 0 0 0
ER 5 2 |dAmsE 600.0 3000 ] 100: 100 0 0 0 0 0 0 0 0] 150: 150] 100: 50 0 0 0 0 0 0 0 0 0 0
75 @ —R% |RERAT 600.0 3000 | 300i 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0 #EKER — 8% |FTREIEE/\1E 600.0 3000 ] 300 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
77 Kk fEXR 2 |BENRE 590.0 440.0 0 0| 340: 340 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B ED 2 |BEN#E 590.0 150.0 0 0 0 0 0 0] 100: 100 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0
78 T K B |[WLMER 570.0 200.0 0 0 0 0 0 0| 160: 160 0 ol 10: 10 0 0 0 0 0 0 0 0 0 ol 60; 30
EKE & |[lLMER 570.0 370.0 0 0 0 0 0 0| 100: 100 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0| 60 30




79 Bl EE | R |BEEBEAM 560.0 2000 | 200; 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EB KL B _|[ITEakR 560.0 360.0 | 200: 200 0 0 0 0| 100: 100 0 0 60 60 0 0 0 0 0 0 0 0 0 0 0 0
80 HHE KX X |[fERXZE 555.0 2000 | 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#H Eh X |[fERXZE 555.0 3550 | 200 200 0 0 0 0 0 0 0 0 0 o] 210 105 0 0| 100 50 0 0 0 0 0 0
81 Bk ER —hB (EAERIZEER | 5500 3500 | 200; 200 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
RO REB X |[BXXE 550.0 2000 | 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82 HE 1&5& o | Bk 520.0 2600 | 200: 200 0 0 0 0 0 0 0 o/ 10. 10] 100: 50 0 0 0 0 0 0 0 0 0 0
£H XX | RE PR 520.0 2600 | 200: 200 0 0 0 0 0 0 0 o] 10 10] 100: 50 0 0 0 0 0 0 0 0 0 0
82 A X K| HEIKE 520.0 3100| 100: 100 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
X8 #HE K | HIKE 520.0 210.0 0 0 0 0] 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
82 iR fE = |HHsyEEK 520.0 3000 | 100i 100 0 0 0 0 0 0 0 0| 150! 150 100i 50 0 0 0 0 0 0 0 0 0 0
AT A = |BEHyEEK 520.0 220.0 0 0 0 0 0 0 0 0 0 0| 150; 150 100i 50 0 0| 400 20 0 0 0 0 0 0
85 PIE G0N B |ExRE 505.0 275.0 10 10 0 0 0 0 0 0 0 0 0 ol 200: 100 0 0 0 0 0 0 0 0| 330. 165
FRLUFE | 8 [EXR 505.0 230.0 10 10 0 0 0 0 0 0 0 0 0 0| 200: 100 0 0 0 0 0 0 0 0| 240: 120
g6 |BH B X |[fERXZE 500.0 2500 | 100: 100 0 o[ 100i 100 0 0 0 0 0 o] 1000 50 0 0 0 0 0 0 0 0 0 0
hngk Bx X |[fERXZE 500.0 2500 | 100 100 0 0| 100: 100 0 0 0 0 0 o] 1000 50 0 0 0 0 0 0 0 0 0 0
36 R’A B B |[tAmEE 500.0 2500 100i 100 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
st BREE 2 |dAnsE 500.0 2500 | 100: 100 0 0 0 0 0 0 0 0| 150 150 0 0 0 0 0 0 0 0 0 0 0 0
86 B KB | — % [BearRally 500.0 3000 | 200: 200{ 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=0 Rl — % |BMIEYST 500.0 2000 | 100: 100[ 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
36 RE RifE — % (P2 EENE M 500.0 2000 | 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EZEN — % |[FIZEENE M 500.0 3000 | 200i 200[ 100 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
90 WA EKRE | K ([MHEIXRE 500.0 3000 | 200: 200{ 100 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WA = K | uMHEIKE 500.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o1 ER FiE | AEXFERZE 480.0 240.0 0 0 0 0 0 0 0 0 0 0| 240 240 0 0 0 0 0 0 0 0 0 0 0 0
B AKX | b | ABEXGESE 480.0 240.0 0 0 0 0 0 0 0 0 0 0] 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
o1 MHE £ B [ LEXHEER 480.0 240.0 0 0 0 0 0 0 0 0 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
o RE B [ LEXHEEK 480.0 240.0 0 0 0 0 0 0 0 0 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
93 REIEE = |BHsyEEK 470.0 260.0 | 200 200 0 0 0 0 0 0 0 o 10 10| 100i 50 0 0 0 0 0 0 0 0 0 0
FH BN = |BEHyEEK 470.0 2100 | 200 200 0 0 0 0 0 0 0 0 100 10 0 0 0 0 0 0 0 0 0 0 0 0
93 = - X |[fERXZE 470.0 260.0 0 0 0 0| 100: 100 0 0 0 0 0 ol 100: 50 0 0| 220 110 0 0 0 0 0 0
Sl B X |[fERXZE 470.0 210.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0
95 e i B |[1TEak 460.0 360.0 | 200i 200 0 0 0 0| 100: 100 0 0| 60 60 0 0 0 0 0 0 0 0 0 0 0 0
=R S B _|[ITEakR 460.0 100.0 0 0 0 0 0 0] 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
95 iR = = |HHsyEEK 460.0 3000 | 100i 100 0 0 0 0 0 0 0 0| 150! 150 100i 50 0 0 0 0 0 0 0 0 0 0
FE FF = |BEHyEEK 460.0 160.0 ] 100: 100 0 0 0 0 0 0 0 0 60 60 0 0 0 0 0 0 0 0 0 0 0 0
97 =l 7% B |REEER 4400 220.0 0 0 0 0 0 0| 160: 160 0 0| 60: 60 0 0 0 0 0 0 0 0 0 0 0 0
MR % B |REEER 440.0 220.0 0 0 0 0 0 0] 160: 160 0 0] 60: 60 0 0 0 0 0 0 0 0 0 0 0 0
97 B8 EX — % ((E->TAYST 440.0 220.0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g —a — % |[FoTAYST 440.0 220.0 0 0] 220: 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
99 ER AKX — % ((E-oTAYST 430.0 160.0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S EX — % |[FoTAYST 430.0 270.0 0 0] 160: 160 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0 0 0
100 MmA 2 2 |dAMmEE 420.0 60.0 0 0 0 0 0 0 0 0 0 0| 60: 60 0 0 0 0 0 0 0 0 0 0 0 0
KK EH B |[tANEE 420.0 360.0 | 300: 300 0 0 0 0 0 0 0 0 60 60 0 0 0 0 0 0 0 0 0 0 0 0
100 Bt EX B |FMEIEZER 420.0 60.0 0 0 0 0 0 0 0 0 0 0| 60 60 0 0 0 0 0 0 0 0 0 0 0 0
=B KL B |[ITEaiR 420.0 360.0 | 200: 200 0 0 0 0| 100: 100 0 0 60 60 0 0 0 0 0 0 0 0 0 0 0 0
100 pas]l| K | UMEEXE 420.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FE BEX K | AMEEKE 420.0 260.0 0 0 0 0] 160: 160 0 0 0 0 0 ol 200: 100 0 0 0 0 0 0 0 0 0 0
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BFIUTILR
e EF0EE TR EE
x4 |EREXS MEXE EREFES BHRERE MEXE EREFES

W E mE e e ] s [ AF 1 sk _| B L SE_l_ s [ AE 1 =B | B [ &8

[ga/EaH S 100% | 135 100% [ 521 100% | {55 100% | 1557 100% | 555 i 100% | 1S5 50% |5 50% | {3 50% [Bx: 50% | {54 50% | 551 50%
= = |BBRsyEER 1850.0 400 400 0 0 0 0| 400; 400 0 0 0 o| 700; 350 0 0 0 0| 400 400 0 0| 600 300
2 |BH e | |BEEXRT/RIT | 17750 500 500/ 400: 400 0 0 0 0| 420; 420 0 0 0 0| 400i 200 0 0 0 0| 510 255 0 0
3 |E EX K |MKE 1560.0 600 600 0 0| 400: 400 0 0| 330: 330 0 0 0 0 0 o| 220 110 0 0| 240} 120 0 0
4 |EFR EE | —fig|FESEBEM 1240.0 0 0| 340! 340 0 0 0 0| 600 600 0 0 0 0 0 0 0 0 0 0| 600i 300 0 0
5 (&)1 R B |REXERER 1210.0 200! 200 0 0 0 0| 160 160 0 0| 420 420 300 150 0 0 0 o| 160: 160 0 ol 240! 120
6 |18 &N = |BBRsEER 1125.0 300: 300 0 0 0 0| 160i 160 0 o[ 330: 330] 200: 100 0 0 0 0| 160 160 0 o| 150 75
7 (RTE A | & |REPREKRHE | 10400 200 200| 220 220 0 0 0 0| 420} 420 0 o| 400} 200 0 0 0 0 0 0 0 0 0 0
8 |/h&E e | —R|FMESEFEAM 1035.0 0 0 0 0 0 0 0 0| 690 690 0 0 0 0 0 0 0 0 0 0| 690i 345 0 0
9 [BERBEA B [ AEXFEER 1025.0 0 0 0 0| 160: 160 0 0| 420i 420 0 0 0 0 0 0 0 0| 280: 280 0 0| 330 165
10 [dERk #8 X |[EREXZE 1010.0 500; 500 0 0| 340; 340 0 0 0 0 0 0 0 0 0 0| 340 170 0 0 0 0 0 0
1 [B A& = |BBRsrEER 865.0 0 0 0 0 0 0| 220} 220 0 0| 330 330] 300: 150 0 0 0 0 0 0 0 0| 330 165
12 ($iE #E | M |FE2EBEAM 820.0 0 0| 280 280 0 0 0 0| 330 330 0 0 0 0 0 0 0 0 0 0| 420i 210 0 0
13 |F =i B |REXERER 815.0 0 0 0 0 0 0| 160: 160 0 o[ 330 330] 300: 150 0 0 0 0| 100 100 0 o| 150i 75
14 | H& = |BBRsEER 790.0 0 0 0 0 0 0 0 0 0 0 0 0| 600: 300 0 0 0 0| 280 280 0 o| 420 210
15 |i5iE #3 X |[EBEXZE 780.0 300 300 0 0| 220: 220 0 0 0 0 0 o] 300: 150 0 o| 220 110 0 0 0 0 0 0
16 (&)1l fEE = [LMER 755.0 0 0 0 0 0 o| 100. 100 0 0| 420 420 0 0 0 0 0 o| 160 160 0 o 1500 75
17 AR & B |REEEK 740.0 0 0 0 0 0 0| 160 160 0 0| 240 240 0 0 0 0 0 o| 100i 100/ 330! 165 150! 75
18 |4EO #hil & |(WMEKR 725.0 0 0 0 0 0 0| 160; 160 0 0| 330; 330 0 0 0 0 0 0| 160i 160 0 o| 150i 75
19 (&M R X |[EBEXZE 720.0 400 400 0 0| 220: 220 0 0 0 0 0 o] 100 50 0 o| 100 50 0 0 0 0 0 0
20 |RAT —# = |BBRsEER 715.0 300 300 0 0 0 0 0 0 0 0| 240 240| 200: 100 0 0 0 0 0 0 0 o| 150 75
21 |EO #®E X |BEXZE 700.0 700: 700 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21 | KR F2 X |AMERRKE 700.0 300 300 0 0| 100; 100 0 0| 240: 240| 60i 60 0 0 0 0 0 0 0 0 0 0 0 0
21 3RO Eat X |AMERRKE 700.0 0 0 0 0| 160: 160 0 0| 330: 330 0 0 0 0 0 0 0 0 0 0| 420i 210 0 0
24 |[HEL B2 X |[BAARIEXRE 670.0 0 0 0 0| 100. 100 0 0| 330 330 0 o| 200 100 0 of 40 20 0 ol 240 120 0 0
25 |®RFT RIE K |MKE 660.0 0 0 0 0| 160: 160 0 0| 330 330 0 0 0 0 0 o| 100 50 0 0| 240 120 0 0
26 (A fEA X |[fERXZE 640.0 200: 200 0 0| 220 220 0 0 0 0 0 o| 400; 200 0 of 40, 20 0 0 0 0 0 0
27 |R&E =4 X |AMERRKE 630.0 0 0 0 0 0 0 0 0| 420: 420 0 0 0 0 0 0 0 0 0 0| 420i 210 0 0
28 |&&A Tt X |AMERRKE 595.0 0 0 0 0| 100i 100 0 0| 330 330 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
28 |EHW KN = |BBRsEER 595.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 340 340 0 o| 510 255
30 (R B4 B [ AEXfEER 550.0 0 0 0 0 0 0| 280; 280 0 0| 150; 150 0 0 0 0 0 0 0 0 0 0| 240: 120
3 |HHWE B [ AEXFEER 520.0 0 0 0 0 0 0| 280: 280 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
31 (B0 mis —i% |[BHEYST 520.0 0 0| 280 280 0 0 0 0 0 0 0 o] 200: 100| 280} 140 0 0 0 0 0 0 0 0
33 A% &KX X |AMERRKE 510.0 0 0 0 0 0 0 0 0| 510; 510 0 0 0 0 0 0 0 0 0 0 0 0 0 0




33 |EIF A X |AMERRKE 510.0 0 0 0 0 0 0 0 0| 510; 510 0 0 0 0 0 0 0 0 0 0 0 0 0 0
33 |HFL Fnth = |[EEEREEKR 510.0 200: 200 0 0 0 0| 160i 160 0 0| 150i 150 0 0 0 0 0 0 0 0 0 0 0 0
36 [#R& EKREA | K |AMKE 500.0 100 100 160: 160 0 0 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0 0 0
37 &Kk it & |[WMEKR 490.0 0 0 0 0 0 0| 220 220 0 0| 240} 240 0 0 0 0 0 0 0 0 0 of 60 30
38 |{hEE K X |[EBEXZE 480.0 300 300 0 0| 100i 100 0 0 0 0 0 0 0 0 0 o| 160 80 0 0 0 0 0 0
39 |BE =MW = |BBRsEER 470.0 100; 100 0 0 0 0 0 0 0 0| 240: 240| 200: 100 0 0 0 0 0 0 0 of 60 30
40 [/MKREX —hg (—h% 460.0 0 0| 220: 220 0 0 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0 0 0
40 |B1E E B [ AEXfFEER 460.0 0 0 0 0 0 0| 340! 340 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 240} 120
42 (BiR BX X |ABXKE 440.0 0 0 0 0| 100; 100 0 0 0 0 0 0 0 0 0 0 0 0| 220 220 0 0| 240 120
43 &k BR = |BBRsrEER 4300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 220 220 0 o| 420 210
44 |TEA W —fg |&0ES 4200 0 0 0 0 0 0 0 0 0 0| 240 240 300 150 0 0 0 0 0 0 0 ol 60, 30
4 |BE BX = |BBRsrEER 4200 100 100 0 0 0 0 0 0 0 o[ 150i 150| 100: 50 0 0 0 0 0 0 0 0| 240 120
44 | X4 BBX X |ABXRKE 4200 0 0 0 0| 280 280 0 0 0 0 0 0 0 0 0 0| 280: 140 0 0 0 0 0 0
44 ||E B X [BEHAIEXRZF 420.0 0 0 0 0| 40 40 0 0| 330; 330 0 o] 100 50 0 0 0 0 0 0 0 0 0 0
48 |HD #EAER —fi% |FT A S/ \ R 410.0 200 200 0 0 0 0 0 0 0 0 0 o] 200: 100| 220 110 0 0 0 0 0 0 0 0
49 |EH #hth — % | RER AT 400.0 400; 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
49 [{EFD &= —fig |2 EBERM 400.0 400: 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
51 |ILTF #Etd = |BBRsEER 395.0 0 0 0 0 0 0| 220 220 0 0 0 o| 200: 100 0 0 0 0 0 0 0 o| 150 75
52 |ILTF $AFE —h% (IR EIES/\IE 390.0 0 0 0 0 0 0 0 0 0 0 0 o] 500: 250| 280 140 0 0 0 0 0 0 0 0
53 |HAK &% B |[BIXEESK 385.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 220. 220 0 0| 330 165
54 |f@E Tt —1fi% |YBC 380.0 10: 10 0 0 0 0 0 0| 240 240 0 o] 100 50 0 o| 160 80 0 0 0 0 0 0
55 % HA X |AMERRKE 375.0 0 0 0 0| 40 40 0 0 0 0 0 o] 300; 150 0 of 40i 20 0 0| 330 165 0 0
56 |ZE HAH | B |[tAMEE 370.0 0 0 0 0 0 0 0 0 0 0| 150: 150| 200i 100 0 0 0 0 0 0 0 0| 240} 120
56 [IH 5nih X [BAAXAIX 370.0 0 0 0 of 40 40 0 0| 330 330 0 0 0 0 0 0 0 0 0 0 0 0 0 0
58 [/NEH —K5 = |BBRsEER 365.0 0 0 0 0 0 0 0 0 0 0| 240 240| 100: 50 0 0 0 0 0 0 0 o| 150 75
59 |dLE A K| MHEILKRE 360.0 0 0 0 0| 160; 160 0 0 0 0 0 0 0 0 0 0| 400i 200 0 0 0 0 0 0
59 |/NEFBEKER | K |ABKRKE 360.0 0 0 0 0| 280: 280 0 0 0 0 0 0 0 0 0 o| 160 80 0 0 0 0 0 0
61 (LA UMD | B |LMEK 345.0 0 0 0 0 0 0 0 0 0 0 0 ol 100i 50 0 0 0 0| 220. 220 0 o| 150 75
62 (5E Eh K| MHEILKRE 330.0 0 0 0 0| 220i 220 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0
63 |EH FERL X |AMERRKE 325.0 0 0 0 0| 160; 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 330 165 0 0
63 |SATEF ik = |BBRsEER 325.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 160 160 0 0| 330 165
65 |ZE A X |AMERRKE 320.0 0 0 0 0 0 0 0 0 0 0 0 o] 400: 200 0 0 0 0 0 0| 240} 120 0 0
65 |KE K& —f% (FI2EBEAM 3200 100i 100 220 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
67 [FEEX K B [ AEXFEER 3100 0 0 0 0 0 0| 220; 220 0 0| 60 60 0 0 0 0 0 0 0 0 0 o 60i 30
68 |fmik B —fi% e KA 300.0 300 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
68 |TH —#f —fi% |B—DASH 300.0 300! 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
68 |{&ik X X |BREFKZE 300.0 300 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0




68 |£H B’FE &= |[WMEKR 300.0 0 0 0 0 0 0| 100: 100 0 of 10i 10 0 0 0 0 0 0| 160 160 0 of 60 30
68 |AH #HE X |[EEXZE 300.0 100; 100 0 0| 100; 100 0 0 0 0 0 o] 200; 100 0 0 0 0 0 0 0 0 0 0
73 [HLE BN X |[EBEXZE 295.0 200 200 0 0| 40; 40 0 0 0 0 0 o] 100 50 0 of 10 5 0 0 0 0 0 0
74 |hnmk BE X |[EBEXZE 290.0 200 200 0 0| 40 40 0 0 0 0 0 o] 100 50 0 0 0 0 0 0 0 0 0 0
74 |FMARESR | B |[AEXTEER 290.0 0 0 0 0 0 0 0 0 0 of 10 10 0 0 0 0 0 0| 160: 160 0 0| 240 120
76 |fEk E B |REXERER 270.0 0 0 0 0 0 0| 100; 100 0 o 60: 60 10 5 0 0 0 o[ 100i 100 0 o] 10 5
77 |EE RE X |AMERRKE 265.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 330} 165 0 0
78 |WE FFE B (IR 260.0 200 200 0 0 0 0 0 0 0 o| 10 10| 100i 50 0 0 0 0 0 0 0 0 0 0
78 Rk £ B |dtAmEE 260.0 200: 200 0 0 0 0 0 0 0 o 60i 60 0 0 0 0 0 0 0 0 0 0 0 0
78 |E% EK B |dtAmEE 260.0 200: 200 0 0 0 0 0 0 0 o 60i 60 0 0 0 0 0 0 0 0 0 0 0 0
78 |ilAK = — % | LM KRZE KRR 260.0 100 100 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82 |E A% X |WMERRKE 255.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 510 255 0 0
83 (&0 #h3t X |[EBEXZE 250.0 0 0 0 0| 100i 100 0 0 0 0 0 o] 200; 100 0 o[ 100 50 0 0 0 0 0 0
84 (ILA BT K |MKE 2450 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 160 80 0 0| 330 165 0 0
84 |RR E2 = |[AMERKE 2450 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 160 80 0 0| 330} 165 0 0
86 |&=fF K* B |TEER 240.0 0 0 0 0 0 0 0 0 0 0| 240} 240 0 0 0 0 0 0 0 0 0 0 0 0
86 |IEAX HE X |ABXKE 240.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 o| 160 80 0 0 0 0 0 0
86 | At BT X |ABXKE 240.0 0 0 0 0| 160; 160 0 0 0 0 0 0 0 0 0 o| 160 80 0 0 0 0 0 0
89 [/MFY FeLE B [ AEXfEER 225.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 o| 1501 75
920 |&ES EX —f% |IE>TAYTT 220.0 0 0| 220 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
90 |3 FH HE K| MHEILKE 220.0 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 of 40i 20 0 0 0 0 0 0
92 (L F5MA X |AMERRKE 210.0 0 0 0 0| 100; 100 0 0 0 0| 60i 60| 100i 50 0 0 0 0 0 0 0 0 0 0
93 |[RE #ME | —MK|FEFEHEAM 210.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 420i 210 0 0
93 [ER & B |REXERER 210.0 200: 200 0 0 0 0 0 0 0 of 10i 10 0 0 0 0 0 0 0 0 0 0 0 0
93 [HE B— K| MHEILKRE 210.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
93 |&HA RX F |BEHrEER 210.0 10: 10 0 0 0 0 0 0 0 o[ 150: 150| 100: 50 0 0 0 0 0 0 0 0 0 0
97 |&5H BE = (AR 200.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 o[ 100} 100 0 0 0 0
97 [XE 1BE BES1=7 200.0 200; 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
97 |IWNwR &N— | — g |BELETE 200.0 0 0 0 0 0 0 0 0 0 0 0 o| 400 200 0 0 0 0 0 0 0 0 0 0
97 |f&k ek —f& [EOR)—H5T 200.0 200 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
97 |RR itk = |FEER 200.0 200; 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
97 |#HA KX X |[EBEXZE 200.0 200! 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
103 |Fdb #HAE | & |LPIE# 190.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 160: 160 0 of 60 30




TFFTILR
e FR2OEE FR2SEE

x2a| BREXE EAE . EHN%%;‘%__%‘ BEHREXE FEAE . EHN%%;‘%__%‘

Wi A R Py — 7.0 N - Al T XF T S8 1 _—B [ &K
" BA/ESE| 55 100% | 15 100% | 53 100% | 523 100% | 551 100% | 521 : 100% | 521 ¢ 50% (551 50% [543 50% |55 50% | {5 50% | {54 - 50%
1 HE Fibx — % |FEE KRS TAERIT 33200| 1590.0| 500: 500 400: 400 0 0 0 0 690: 690 0 of o 0 0 0 0 0 0 0 0 0 0 0
=it REF — % |FEEKRSTAERIT 33200| 1730.0] 500 500 400: 400 0 0 0 0| 690: 690 0 0 0 0| 280 140 0 0 0 0 0 0 0 0
9 EE HVF X |[EEXZE 28700| 1630.0| 700: 700 0 0 0 0 0 0| 510: 510 0 0|l 500: 250 0 0| 340: 170 0 0 0 0 0 0
HE 1350 X [ABXKZE 28700 | 1240.0| 700: 700 0 0| 400: 400 0 0 0 0 0 0 0 0 0 0| 280: 140 0 0 0 0 0 0
3 N EE B [ LAEXAFEER 27600 | 13800 0 0 0 0 0 o| 400: 400 0 o/ 600 600 O 0 0 0 0 ol 3400 170 0 ol 420 210
TE 2 B | WEXAEER 27600 | 1380.0 0 0 0 0 0 0| 400: 400 0 0| 600: 600 0 0 0 0 0 0| 340: 170 0 0| 420. 210
4 EE HVF X |[EEXZE 25600 | 1630.0| 700: 700 0 0 0 0 0 0| 510: 510 0 0| 500 : 250 0 ol 340: 170 0 0 0 0 0 0
hi XEF X [EEXZE 2560.0 930.0 0 0 0 0 0 0 0 0| 510: 510 0 0| 500: 250 0 0| 340: 170 0 0 0 0 0 0
5 PP —fi% | EET 24500 | 1310.0| 500: 500 340: 340 0 0 0 0 0 0 0 o] 600: 300/ 340: 170 0 0 0 0 0 0 0 0
" ER — % | EE7 24500 | 1140.0] 500 500 340: 340 0 0 0 0 0 0 0 0] 600: 300 0 0 0 0 0 0 0 0 0 0
6 A & B |ReXEEEK 22400 | 11200] 400: 400 0 0 0 0| 280 280 0 0| 240: 240] 400 : 200 0 0 0 0 0 0 0 0 0 0
W BHME B |EEXEREEK 22400 | 11200| 400! 400 0 0 0 0| 280 280 0 0| 240: 240] 400: 200 0 0 0 0 0 0 0 0 0 0
. LA b X | ABEX 20950 | 1155.0 0 0 0 0 340 340 0 0| 600: 600 0 of o 0 0 0 0 ol 100 50 0 0| 330 165
T8 BX X | AEX 2095.0 940.0 0 0 0 0| 340 340 0 0| 600: 600 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 FE A B |EREESK 20950 | 12450 0 0 0 0 0 0| 340: 340 0 ol 510 510 © 0 0 0 0 ol 280 140 0 0| 510 255
IR —% B |EREESK 2095.0 850.0 0 0 0 0 0 0| 340: 340 0 0| 510; 510 0 0 0 0 0 0 0 0 0 0 0 0
9 E e X |[EEXZE 20300| 1150.0| 600: 600 0 0 0 0 0 0 0 0 0 o] 700: 350 0 0| 400: 200 0 0 0 0 0 0
B n&s X [EEXZE 2030.0 880.0| 600 600 0 0| 280 280 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
10 FiE E£H B |EREESK 1855.0 640.0 0 0 0 0 0 0| 220; 220 0 0| 420 420] o© 0 0 0 0 0 0 0 0 0 0 0
W &% B |EREESK 18550 | 12150| 300 300 0 0 0 0| 220: 220 0 0| 420; 420 0 0 0 0 0 0] 2200 110 0 0| 330 165
11 B It X |fBEX 1820.0 880.0| 600: 600 0 0| 280 280 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
BH BARE X [fEEX 1820.0 940.0 | 400: 400 0 0| 280 280 0 0 0 0 0 0| 300 150 0 0| 220. 110 0 0 0 0 0 0
12 FE (T5H X |[ABXKZE 1780.0| 1240.0| 700 : 700 0 0 400: 400 0 0 0 0 0 of o 0 0 0| 280 140 0 0 0 0 0 0
BA EB X [ABXKZE 1780.0 540.0 0 0 0 0| 400: 400 0 0 0 0 0 0 0 0 0 0| 280: 140 0 0 0 0 0 0
13 HESE —fi% [B—DASH 1665.0 4500 | 300: 300 0 0 0 0 0 0 0 0 0 of 300: 150 0 0 0 0 0 0 0 0 0 0
Wng &% —fi% |[B—DASH 1665.0 | 12150] 300 300 0 0 0 0| 2200 220 0 0| 420 420 0 0 0 0 0 0] 2200 110 0 0| 330 165
14 Bh<BH B |ReXEEEK 1560.0 795.0 0 0 0 0 0 0| 160: 160 0 ol 330. 330] 300: 150 0 0 0 ol 160 80 0 o] 1500 75
FHE B |EEXEEEK 1560.0 765.0 0 0 0 0 0 0| 160: 160 0 0| 330 330] 300: 150 0 0 0 o 10 5 0 0| 240 120
15 Eh mE —fi% |B—DASH 1520.0 760.0 | 400 : 400| 160: 160 0 0 0 0 0 0 0 ol 400: 200 0 0 0 0 0 0 0 0 0 0
maft fhE —fi% |[B—DASH 1520.0 7600 | 400: 400 160 160 0 0 0 0 0 0 0 o] 400 200 0 0 0 0 0 0 0 0 0 0
16 B HRE B |[fEREESK 1460.0 730.0 0 0 0 0 0 0| 280 280 0 ol 330 33| o© 0 0 0 0 0 0 0 0 ol 240 120
BEH BhE B |EREESK 1460.0 730.0 0 0 0 0 0 0| 280 280 0 0| 330 330 0 0 0 0 0 0 0 0 0 0| 240 120
17 EH E —he (Y57 1340.0 400.0| 400: 400 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
EH BRE X [EEXZE 1340.0 940.0 | 400: 400 0 0| 280 280 0 0 0 0 0 0| 300 150 0 0| 220 110 0 0 0 0 0 0
18 B tiE B |ReXEEEK 1320.0 810.0| 300: 300 0 0 0 ol 100: 100 0 0| 240 240 o© 0 0 0 0 ol 100i 50 0 ol 240 120
=R &% B |EEXEEEK 1320.0 510.0 0 0 0 0 0 0| 100: 100 0 0| 240: 240 0 0 0 0 0 0] 100 50 0 0| 240 120
19 maft fhEk —fi% ESHER 1310.0 760.0 | 400 400| 160: 160 0 0 0 0 0 0 0 o] 400: 200 0 0 0 0 0 0 0 0 0 0
Wil R — % ESHER 1310.0 550.0 | 400: 400 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
20 REZ& X |[fEEXZE 1260.0 540.0 | 300 : 300 0 o[ 160: 160 0 0 0 0 0 of o 0 0 ol 160 80 0 0 0 0 0 0
5H EE X [EEXZE 1260.0 7200 | 300: 300 0 0| 160: 160 0 0 0 0 0 0| 300 150 0 0| 220. 110 0 0 0 0 0 0
21 HBi £t B | LWBEXtEER 1235.0 495.0 0 0 0 0 0 0 0 0 0 0| 420 420] o© 0 0 0 0 0 0 0 0 0| 1500 75
NGRS B | WEXAEER 1235.0 740.0 0 0 0 0 0 0 0 0 0 0| 420 420 0 0 0 0 0 0| 220 110 0 0| 420 210
99 HE KE B |[EREESK 1220.0 670.0 0 0 0 0 0 0| 220; 220 0 ol 330 33| o© 0 0 0 0 0 0 0 0 ol 240 120
BE EE B |EREESK 1220.0 550.0 0 0 0 0 0 0| 220: 220 0 0| 330 330 0 0 0 0 0 0 0 0 0 0 0 0
23 I5EF BETE B | LWBEXtEER 1160.0 580.0 0 0 0 0 0 0| 220; 220 0 0| 240 240 o© 0 0 0 0 0 0 0 0 ol 240 120
R R B | WEXAEER 1160.0 580.0 0 0 0 0 0 0| 220: 220 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0| 240 120
23 Erh BE —ik [[ESEE 1160.0 760.0 | 400 : 400| 160: 160 0 0 0 0 0 0 0 ol 400: 200 0 0 0 0 0 0 0 0 0 0
1B T8 —hE [ESEE 1160.0 4000 | 400. 400 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
25 RS R B |ReXEEEK 1110.0 3000 300: 300 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
BEH tE B |EeXEREEK 1110.0 810.0| 300 300 0 0 0 0| 100: 100 0 0| 240: 240 0 0 0 0 0 0] 1000 50 0 0| 240 120




2% BERXKEBEEY PPN E Sy 8- 1110.0 600.0 | 300: 300 0 o[ 220: 220 0 0 0 0 0 of o 0 0 ol 160 80 0 0 0 0 0 0
o ZEx X (AL KRE 1110.0 510.0| 300: 300 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0| 100: 50 0 0 0 0
97 FH E&F —fi% [STAY GOLD 960.0 480.0 0 ol 280 280 0 0 0 0 0 0 0 ol 400: 200 0 0 0 0 0 0 0 0 0 0
WE XmMF | —#|STAY GOLD 960.0 480.0 0 0| 280 280 0 0 0 0 0 0 0 o] 400: 200 0 0 0 0 0 0 0 0 0 0
28 BERKEBEETY K (IR 930.0 600.0 0 300 0 0| 220: 220 0 0 0 0 0 of o 0 0 ol 160 80 0 0 0 0 0 0
E Fi X | RE 930.0 330.0 0 0 0 0| 220 220 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0
29 KiR HBk B |ReXEEEK 920.0 460.0 0 0 0 0 0 0| 220; 220 0 0| 240; 240 o© 0 0 0 0 0 0 0 0 0 0 0
BiE x5 B |EEXEREEK 920.0 460.0 0 0 0 0 0 0| 220: 220 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0 0 0
30 FHEET = |[WWME&R 910.0 540.0 0 0 0 0 0 ol 100 100 0 ol 240 240 o0 0 0 0 0 ol 1600 80 0 ol 240i 120
Rk 1B & [lLME&R 910.0 370.0 0 0 0 0 0 0| 100: 100 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0| 60 30
31 BXEK B |AEPEER 900.0 450.0 | 300 : 300 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
T FER B |AEPRER 900.0 4500 | 300: 300 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
32 R 8% —fi% |AA 850.0 5500 | 300: 300 0 0 0 0 0 0 0 0 0 ol 500: 250 0 0 0 0 0 0 0 0 0 0
RO E% — | KPR 850.0 300.0 | 300: 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
33 hi HRE B | WBEXtEER 830.0 400.0 0 0 0 0 0 0| 160: 160 0 0| 240; 240 o© 0 0 0 0 0 0 0 0 0 0 0
FT%H —F B | WEXAEER 830.0 430.0 0 0 0 0 0 0| 160: 160 0 0| 240: 240 0 0 0 0 0 0 0 0 0 0| 60 30
34 HEE B |PEEKR 800.0 4500 300: 300 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
mlll §F B _|PEEKR 800.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 0] 300: 150 0 0 0 0 0 0 0 0 0 0
35 jnna kg B |BEHsEER 700.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
=5 2 = |BEHsrEER 700.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 0] 300: 150 0 0 0 0 0 0 0 0 0 0
35 2 &R — % |FEE KRS TAERIT 700.0 420.0 0 0| 280: 280 0 0 0 0 0 0 0 o o 0| 280 140 0 0 0 0 0 0 0 0
BK DX — % |FEEKRSTAERIT 700.0 280.0 0 0| 280: 280 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
35 ®ik £ P NIE W v = 700.0 4200 0 0 0 0| 280 280 0 0 0 0 0 of o 0 0 ol 280 140 0 0 0 0 0 0
pnl=EE] X |dLammiLRE 700.0 280.0 0 0 0 0| 280: 280 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
35 no EE B |BEHsrEER 700.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 o] 300: 150 0 0 0 0 0 0 0 0 0 0
=5 2 = |BEHsyrEER 700.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 0] 300: 150 0 0 0 0 0 0 0 0 0 0
39 B Soh B |/NETEEK 680.0 3400 0 0 0 0 0 ol 160 160 0 ol 150 150 O 0 0 0 0 0 0 0 0 o 60 30
B2 BRI B |/NEfEEK 680.0 340.0 0 0 0 0 0 0| 160: 160 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0| 60 30
40 WA Bz X | KR 670.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
=€ X | RE 670.0 510.0 ] 300: 300 0 0] 160 160 0 0 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0
# nas #¥ —fi% [STAY GOLD 660.0 330.0 0 0| 220: 220 0 0 0 0 0 0 0 of o ol 220 110 0 0 0 0 0 0 0 0
B A —fi% [STAY GOLD 660.0 330.0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0 0 0
m hnegE EA B | LWBEXtEER 660.0 330.0 0 0 0 0 0 0 0 0 0 ol 330 33| o© 0 0 0 0 0 0 0 0 0 0 0
HES %iE B | WEXAEER 660.0 330.0 0 0 0 0 0 0 0 0 0 0| 330: 330 0 0 0 0 0 0 0 0 0 0 0 0
43 g i B |TEEER 650.0 300.0| 200: 200 0 0 0 0 0 0 0 0 0 o] 200: 100 0 0 0 0 0 0 0 0 0 0
mlll §F B _|PEEK 650.0 350.0 | 200: 200 0 0 0 0 0 0 0 0 0 0] 300: 150 0 0 0 0 0 0 0 0 0 0
m &R iR X [AumKR=E 600.0 300.0 0 0 0 0| 220: 220 0 0 0 0 0 of o 0 0 ol 160 80 0 0 0 0 0 0
BX EE X | AMKE 600.0 300.0 0 0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0| 160 80 0 0 0 0 0 0
44 i 45t B |REERK 600.0 240.0 0 0 0 0 0 0 0 0 0 0| 240; 240 o© 0 0 0 0 0 0 0 0 0 0 0
£H 24t B |REEK 600.0 360.0 0 0 0 0 0 0 0 0 0 0| 240 240 0 0 0 0 0 0 0 0 0 0| 240: 120
44 nik B — R (pFEYST 600.0 300.0| 300: 300 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
BR ¥A —fi& [>¥kLILUX 600.0 3000 | 300: 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
44 f&REA —3% J\IBES1=7 600.0 300.0| 300: 300 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
A EFE J\IBBES1=T 600.0 300.0| 300: 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
48 bi=pic X |ABKKE 550.0 220.0 0 0 0 ol 220 220 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
Z#E & X |ABXKE 550.0 330.0 0 0 0 0| 220 220 0 0 0 0 0 0 0 0 0 0| 220 110 0 0 0 0 0 0
49 IR E5Y B | LWBEXtEER 480.0 240.0 0 0 0 0 0 0 0 0 0 0| 240; 240 o© 0 0 0 0 0 0 0 0 0 0 0
AHEE B | LWEXAEER 480.0 240.0 0 0 0 0 0 0 0 0 0 0| 240 240 0 0 0 0 0 0 0 0 0 0 0 0
50 % RER —f& [IE-TAYST 460.0 160.0 0 ol 160 160 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
R H1E —§& [IFoTAYST 460.0 300.0 0 0] 160 160 0 0 0 0 0 0 0 0 0 0| 280 140 0 0 0 0 0 0 0 0
51 ik 9 H B |[ABXRZFESK 450.0 240.0 0 0 0 0 0 ol 100; 100 0 ol 60i 60 O 0 0 0 0 ol 160 80 0 0 0 0
At BREIF B | ABXFEEK 450.0 210.0 0 0 0 0 0 0| 100: 100 0 0| 60 60 0 0 0 0 0 0| 100 50 0 0 0 0
51 wH B5 X [AumKR=E 450.0 210.0 0 0 0 o[ 160: 160 0 0 0 0 0 of o 0 0 ol 100 50 0 0 0 0 0 0
RE tiE X [AumKR=E 450.0 240.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0| 160: 80 0 0 0 0 0 0
53 XE BE — & (Eho5T 440.0 220.0 0 0| 220: 220 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0 0
Xid BE — & [EhH5T 440.0 220.0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0




53 T FYA —§& [BearRally 4400 220.0 0 0| 220: 220 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
NHIE BE —fi% |BearRally 440.0 220.0 0 0| 220 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
53 RE EiL — % | ATy av357 440.0 220.0 0 o[ 220: 220 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
KA EF — % | A7y ap357 440.0 220.0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
53 He EEF X |[ABXK=ZE 440.0 220.0 0 0 0 0| 220: 220 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
WA By X [ABXKZE 440.0 220.0 0 0 0 0| 220: 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
57 IO EthE — R [/ \FTSTT4 430.0 270.0 0 0| 160: 160 0 0 0 0 0 0 0 of o ol 220; 110 0 0 0 0 0 0 0 0
KEEF —§% [/\FFS50T74 430.0 160.0 0 0| 160 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
58 RER EFAE X (AR 420.0 210.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 o[ 100i 50 0 0 0 0 0 0
=T X LA RE 420.0 210.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0 0 0
59 RR #EH X |dLAammiIRE 400.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
FE ERE X |dEAmEIIRE 400.0 240.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0] 160 80 0 0 0 0 0 0
59 hE FEE — R (pHHIST 400.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
Hi RE — % |t AN T 1% PR 400.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
59 Bl #HE B |BEHsrEERK 400.0 2000 200: 200 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
WH FK = |BEsyEER 400.0 2000 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
59 e X —fi& [TV —/N—F 400.0 200.0 | 200: 200 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
ZF= —fi& |7 —/\—F 400.0 200.0 ] 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
59 Rk REX —fi% | EET 400.0 2000 200: 200 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
INFIE AKTF | R ([EET 400.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
59 LmEH B |ReXEEEK 400.0 2000 200: 200 0 0 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
®O FiH B |EeXEEEK 400.0 2000 | 200: 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
65 oE 3HE B |MER 395.0 160.0 0 0 0 0 0 o[ 100: 100 0 ol 60 60 O 0 0 0 0 0 0 0 0 0 0 0
FXF B | UMER 395.0 235.0 0 0 0 0 0 0| 100: 100 0 0| 60 60 0 0 0 0 0 0 0 0 0 0| 150 75
66 He E8F X |[ABXRK=ZE 380.0 220.0 0 0 0 0| 220: 220 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
Gl k¥ X |ABRKE 380.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
67 RO RRK X |[BEEFERKE 370.0 210.0 0 0 0 o[ 160: 160 0 0 0 0 0 of o 0 0 ol 100 50 0 0 0 0 0 0
I ER X |[BEEFRXE 370.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
68 ES i B |/NETEEK 360.0 180.0 0 0 0 0 0 0 0 0 0 o| 150; 150 O 0 0 0 0 0 0 0 0 ol 60 30
0O +6 B |/NEfEEK 360.0 180.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0| 60 30
69 BB ES B | LWBEXtEER 330.0 180.0 0 0 0 0 0 0 0 0 0 ol 150 150 o© 0 0 0 0 0 0 0 0 o 60 30
ERED B | WEXAEER 330.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
69 He (TR B |[HEEk 330.0 180.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 ol 160 80 0 0 0 0
fhH EX B |[HEEK 330.0 150.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0] 100 50 0 0 0 0
7 BH BE B | ABXFEEEK 320.0 160.0 0 0 0 0 0 o[ 100: 100 0 ol 60 60 O 0 0 0 0 0 0 0 0 0 0 0
HE XA B | ABXRFESK 320.0 160.0 0 0 0 0 0 0| 100: 100 0 0 60 60 0 0 0 0 0 0 0 0 0 0 0 0
7 FlE EEF —f& (FUA ‘ 320.0 160.0 0 0| 160: 160 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
Bk BH — % | B ARSIV S50 320.0 160.0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 AR #HE — % | X 320.0 160.0 0 0| 160: 160 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
1BE Eiax — % | EE7 320.0 160.0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 ER K KRF —f& (IE-oTAYST 3200 160.0 0 0| 160: 160 0 0 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
BIE FEE — & [IFoTAYST 320.0 160.0 0 0| 160 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 AR =R = m&%#& 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
SHEX B _|[HEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 INE % B |[TEEK 320.0 160.0 0 0 0 0 0 ol 160: 160 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
XEEHE B |[ITEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 Bk TE B |[TEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
T X&E B _|[TEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 T #ER B | ABRBEESK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
ES 855 B | ABRBEEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 S Bk B |TEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
B EXRF B |ITEEK 320.0 160.0 0 0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 Ik FEM X |dLAMmILRE 320.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
BE X8 X [dEAMEIIRE 320.0 160.0 0 0 0 0| 160: 160 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
81 BEET X |[BEEFERKE 300.0 150.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 ol 100 50 0 0 0 0 0 0
F) BE X |EmFERKE 300.0 150.0 0 0 0 0| 100 100 0 0 0 0 0 0 0 0 0 0] 100 50 0 0 0 0 0 0




81 ik 8% & |BIER 300.0 150.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 ol 100i 50 0 0 0 0
T BE 2 |[BIE&R 300.0 150.0 0 0 0 0 0 0| 100 100 0 0 0 0 0 0 0 0 0 0] 100 50 0 0 0 0
81 L) B |REERK 300.0 150.0 0 0 0 0 0 0 0 0 0 ol 150 150 O 0 0 0 0 0 0 0 0 0 0 0
[REF B B |REEK 300.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
81 g %4 f | AEXESE 300.0 150.0 0 0 0 0 0 0 0 0 0 o| 150: 150 O 0 0 0 0 0 0 0 0 0 0 0
AN=E | AEXAETFE 300.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
81 HE T B |ReXEEEK 300.0 150.0 0 0 0 0 0 0 0 0 0 ol 150 150] O 0 0 0 0 0 0 0 0 0 0 0
# AR B |FEXEREEK 300.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
81 TWER B |hETEER 300.0 150.0 0 0 0 0 0 0 0 0 0 ol 150 150 © 0 0 0 0 0 0 0 0 0 0 0
g FYA B |/NEfEEK 300.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
81 FREE ERig B | WBEXtEER 300.0 150.0 0 0 0 0 0 0 0 0 0 ol 150 150 o© 0 0 0 0 0 0 0 0 0 0 0
Kt FFE B | WEXAEER 300.0 150.0 0 0 0 0 0 0 0 0 0 0| 150: 150 0 0 0 0 0 0 0 0 0 0 0 0
81 mik 8% B |BIER 300.0 150.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 ol 100i 50 0 0 0 0
T EE 2 |[BEIER 300.0 150.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0] 1000 50 0 0 0 0
81 AH £=F X |BEEFERKE 300.0 150.0 0 0 0 ol 100: 100 0 0 0 0 0 of o 0 0 ol 100i 50 0 0 0 0 0 0
EE FRF X |[BEEFRXE 300.0 150.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0] 1000 50 0 0 0 0 0 0
90 FH L k&5 B |AREER 270.0 135.0 0 0 0 0 0 0 0 0 0 ol 60i 60 O 0 0 0 0 0 0 0 0 o] 1500 75
EE M B |AREER 270.0 135.0 0 0 0 0 0 0 0 0 0 0 60 60 0 0 0 0 0 0 0 0 0 0| 150 75
90 BIE F1E B |/NETEEK 270.0 90.0 0 0 0 0 0 0 0 0 0 ol 60 60 O 0 0 0 0 0 0 0 0 ol 60 30
RS £%H B |/NEfEEK 270.0 180.0 0 0 0 0 0 0 0 0 0 0 60 60 0 0 0 0 0 0 0 0 0 0| 240: 120
92 Ll =F- B |EAER 250.0 150.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 ol 100i 50 0 0 0 0
XiE HE B |EANER 250.0 100.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
92 Bl M B |BIER 250.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
HEE = |BIIEKR 250.0 150.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0| 100 50 0 0 0 0
92 HE xXFF X |[BEEFRKE 250.0 100.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
I BE X |[BEEFRXE 250.0 150.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0] 100 50 0 0 0 0 0 0
92 BEET X |[BEEFERKE 250.0 150.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 ol 100 50 0 0 0 0 0 0
RH =X X |[BEEFRXE 250.0 100.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
92 TR EE X |[EEITEXRE 250.0 150.0 0 0 0 ol 100: 100 0 0 0 0 0 of o 0 0 o[ 100i 50 0 0 0 0 0 0
T4 X |[BEIIEXRE 250.0 100.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
97 AlE KR X |dLAmmIIRE 250.0 100.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
il Bh3E X |dEAMEIIRE 250.0 150.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0] 100 50 0 0 0 0 0 0
98 R X B |REEK 225.0 90.0 0 0 0 0 0 0 0 0 0 ol 60i 60 O 0 0 0 0 0 0 0 0 ol 60 30
HE BTE B |EEEK 225.0 135.0 0 0 0 0 0 0 0 0 0 0 60 60 0 0 0 0 0 0 0 0 0 0| 1500 75
99 LB EFE X |[EREHEKXRE 210.0 100.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
aHE &8 X |[fEEHKEXE 210.0 110.0 0 0 0 0| 110; 110 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 AR Bl B |EFERK 200.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
& % B |BFER 200.0 100.0 0 0 0 0 0 0| 100 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 L+ HE #%E B |EFERK 200.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
PSS B |BFER 200.0 100.0 0 0 0 0 0 0| 100 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 E BXRT = |[RIIEKR 200.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
KB ¥ & |[BEIER 200.0 100.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 Tk E B | BFEK 200.0 100.0 0 0 0 0 0 ol 100; 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
18 IRk B _|EFeR 200.0 100.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 IRiE BRMAL =) m%‘.%& 200.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
FTHRE F&E B _|[HEEK 200.0 100.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 HF H=E B |REERK 200.0 100.0 0 0 0 0 0 ol 100: 100 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
THEE B _|AEEK 200.0 100.0 0 0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 ISES | X |BAARIEXE 200.0 100.0 0 0 0 ol 100i 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
fE5h B X |BAXRIEXE 200.0 100.0 0 0 0 0| 100 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 ERK X |[fBEITEXZE 200.0 100.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
it X |[BEIIEXRE 200.0 100.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 e EE X [AumKR=E 200.0 100.0 0 0 0 o[ 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
HLE R X [AumK=E 200.0 100.0 0 0 0 0| 100: 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0




BRERASUFUITR

ZFOUT IR
55 FROFE ¥ K285
x2% | BEREXR FEAR EREFESR B#REXS FEAR EREFER
K% R was B | _ HEA _ XE _ Bk _ —f& _ =T _ _ HEA XE B — % =k

T Hea/EAH 5 100% | 51 100% | 53 100% | #5531 100% | 5511 100% [ #5511 100% | #5511 50% 553 50% [ 553 50% | f5a 50% | {5 50% | {5 | 50%
AR e X |[ERXE 1600.0 700 i 700 0 0 0 0 0 0 0 o o o] 700 i 350 0 0| 400i 200 0 0 0 0| 700i 350
HHELthE B |[EEEEEK 1590.0 600 : 600 0 0 0 0| 280 280 0 0| 600 : 600] O 0 0 0 0 0| 220 110 0 0 0 0
W H B B |REXEREEK 1200.0 500 i 500 0 0 0 0| 160: 160 0 0| 240 i 240| 300 : 150 0 0 0 0 0 0 0 0| 300; 150
PR XEF | X |[BEXZE 1160.0 0 0 0 0 0 0 0 0| 690: 690 0 o 300 : 150 0 0| 340 170 0 0 0 0| 300 150
EE HOF | X |BEAKFE 1060.0 0 0 0 0 0 0 0 0| 420: 420| O o] 500 : 250 0 0| 280: 140 0 0 0 0| 500: 250
ENFRCE B | WEXFEER 930.0 0 0 0 0 0 0| 340: 340 0 0| 510 i 510] © 0 0 0 0 0| 160i 80 0 0 0 0
HHEE X |[fBEXZE 910.0 400 : 400 0 0| 160: 160 0 0 0 o o 0| 300 : 150 0 0| 100 50 0 0 0 0| 300: 150
wEll gEF & |PEER 860.0 400 : 400 0 0 0 0| 160: 160 0 o o o] 300 : 150 0 0 0 0 0 0 0 0| 300 150
KR Ak B |ReXEEEK 860.0 0 0 0 0 220; 220 0 0| 240 : 240 400 : 200 0 0 0 0 0 0 0 0| 400: 200
TH i B | WEXFEER 840.0 0 0 0 0 280 280 0 0| 420 i 420] o 0 0 0 0 0| 280 140 0 0 0 0
5 A B |[fEREESK 840.0 0 0 0 0 400: 400 0 0| 330 : 330] 0 0 0 0 0 o[ 220i 110 0 0 0 0
¥ EX X | LMEBEXZE 790.0 0 0 0 0| 280 280 0 0| 510; 510 0 of o 0 0 0 0 0 0 0 0 0 0 0
N EE B ([ LEXAEER 780.0 0 0 0 0 0 0| 220; 220 0 0| 420 : 420] o 0 0 0 0 0| 280: 140 0 0 0 0
EF i B |FREXFEREE 680.0 0 0 0 0 0 0| 220 220 0 0| 60 60| 400 : 200 0 0 0 0 0 0 0 0| 400i 200
BHEBRE | X |[GBRAXE 670.0 0 0 0 0| 220: 220 0 0 0 o o 0| 400 : 200 0 0| 100 50 0 0 0 0| 400: 200
BB RNE | & [GEERESK 630.0 0 0 0 0 0 0| 220i 220 0 0| 330 330] © 0 0 0 0 o| 160 80 0 0 0 0
=B =il B |[BERsyEER 600.0 300 i 300 0 0 0 0 0 0 0 0 0 o] 300 : 150 0 0 0 0 0 0 0 0| 300: 150
HEAR BEX B |REPRER 600.0 400 | 400 0 0 0 0 0 0 0 o o o] 200 : 100 0 0 0 0 0 0 0 0| 200 100
HEEDE | R [BEEXRTAIRIT 600.0 0 0 0 0 0 0 0 0| 600: 600 O 0 0 0 0 0 0 0 0 0 0 0 0
REZ%& X |[BRAXE 550.0 200 i 200 0 0 0 0 0 0 0 ol o o] 300 i 150 0 0| 100i 50 0 0 0 0| 300 150
He 2 B |REXEREEK 540.0 300 i 300 0 0 0 0 0 0 0 0| 240 i 240| © 0 0 0 0 0 0 0 0 0
BE $5H0 | K |[ABXKZE 510.0 0 0 0 0| 400: 400 0 0 0 0 0 of o 0 0 0| 220. 110 0 0 0 0
L A0k X | AMEREKZE 510.0 0 0 0 0 0 0 0 0| 510; 510 0O o o 0 0 0 0 0 0 0 0 0
FI FEK B |REPRER 500.0 300 i 300 0 0 0 0 0 0 0 o o 0| 200 : 100 0 0 0 0 0 0 0 0| 200: 100
nik B —f& V5T 500.0 500 : 500 0 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0 0
e =& B |BERsrEER 500.0 300 : 300 0 0 0 0 0 0 0 0 o o 200 : 100 0 0 0 0 0 0 0 o[ 200; 100
HHE KE B |[REEEER 490.0 0 0 0 0 0| 160: 160 0 0| 330 : 330] 0 0 0 0 0 0 0 0 0 0 0 0
WA #BF X |ABRKE 420.0 0 0 0| 340: 340 0 0 0 o o o o 0 0 0| 160 80 0 0 0 0 0 0
£H B8 B |[REEEER 400.0 0 0 0 0 0| 160: 160 0 0| 240 i 240| © 0 0 0 0 0 0 0 0 0 0 0
BH BE o |RERPER 400.0 400 : 400 0 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0 0
BREEF | K |WMHEILIXRZE 360.0 0 0 0 0| 280: 280 0 0 0 o o o o 0 0 0| 160 80 0 0 0 0 0 0
HE T2 B |FREXEEER 360.0 300 i 300 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0
ik TR B |EBXZMEERAER | 3500 0 0 0 0 0 0 0| 150 i 150| 200 : 100 0 0 0 0 0 0| 200 100
=i Z% B |BEER 3300 0 0 0 0 0 0 0| 330 : 330] O 0 0 0 0 0 0 0 0 0
ik £ X |drmIRE 330.0 0 0 0| 220: 220 0 0 0 o o o o 0 0 0| 220 110 0 0 0 0 0 0
f&kH E3* J\WEBD21=T 300.0 300 i 300 0 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0
BRE TR PNEPRE: Sy N- 300.0 0 0 0 0| 220: 220 0 0 0 of o of o 0 0 o| 160 80 0 0 0 0 0 0
¥HZED X |BAREEFEXRZ 300.0 300 i 300 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0
EE BEEZ | B |BHrEER 300.0 300 : 300 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0




40 |BEK WDER X |ABRKE 270.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 0| 220: 110 0 0 0 0 0 0
41 |#%HE &M K |ABRKRZE 240.0 0 0 0 0| 160: 160 0 0 0 0 0 of o 0 0 0| 160: 80 0 0 0 0 0 0
41 |EH —F B ([ LEXAEEK 240.0 0 0 0 0 0 0 0 0 0 0| 240 i 240| © 0 0 0 0 0 0 0 0 0 0 0
4 |BERER X | KRE 240.0 0 0 0 0| 160: 160 0 0 0 o o o o 0 0 0| 160 80 0 0 0 0 0 0
41 |5 HKiE B (LEXfEEK 240.0 0 0 0 0 0 0 0 0 0 0| 240 i 240| © 0 0 0 0 0 0 0 0 0
41 (#IL HE B |BEER 240.0 0 0 0 0 0 0 0 0 0 0| 240 i 240| © 0 0 0 0 0 0 0 0 0
46 (A EEF | K |[ABXKZE 220.0 0 0 0 0| 220i 220 0 0 0 o o o o 0 0 0 0 0 0 0 0 0
47 (lLQ EX B |EER 2100 0 0 0 0| 160: 160 0 0 0 o o o o 0 0 0 0 0| 100i 50 0 0 0 0
48 | EFIE | K |[dLAMFLIKRE 210.0 0 0 0 0| 160: 160 0 0 0 o o o o 0 0 0| 100 50 0 0 0 0 0 0
48 |[FHI S —fi% |COLORS 210.0 0 0 0 0 0 0 0 0 0 ol 10 10| 200 : 100 0 0 0 0 0 0| 200: 100
50 |[{&kH —3% AN - i P el g 200.0 200 i 200 0 0 0 0 0 0 0 0 0 o o 0 0 0 0 0 0 0 0 0 0 0
51 |IE5E7 HKTE B | WEXFEER 190.0 0 0 0 0 0 0| 100: 100 0 ol 10 10] o 0 0 0 0 0| 160 80 0 0 0 0
52 | KR BE B |EER 160.0 0 0 0 0 0 0| 160: 160 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
52 |\E % B |TEER 160.0 0 0 0 0 0 0| 160: 160 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
52 |HWF F@ | K |[REHFEXE 160.0 0 0 0 0| 160: 160 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
52 |[RABN#IKE | & |BFEK 160.0 0 0 0 0 0 0| 160: 160 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
52 | LA i X | AMEREKZE 160.0 0 0 0 0| 160: 160 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
52 | EF & | LFER 160.0 0 0 0 0 0 0| 160: 160 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
58 |EZ EXE | B |NEESK 150.0 0 0 0 0 0 0 0 0 0 0| 150 i 150| © 0 0 0 0 0 0 0 0 0 0 0
58 (&l EF B |[EEEEEK 150.0 0 0 0 0 0 0 0 0 0 0| 150 i 150| © 0 0 0 0 0 0 0 0 0 0 0
58 |IUAR —3 B |BESK 150.0 0 0 0 0 0 0 0 0 0 0| 150 i 150| © 0 0 0 0 0 0 0 0 0 0 0
58 |/\& & [ ABEXARESRZE 150.0 0 0 0 0 0 0 0 0 0 0| 150 : 150] o 0 0 0 0 0 0 0 0 0 0 0
58 |[FE tiF X | MK 150.0 0 0 0 0| 100; 100 0 0 0 o o o o 0 0 0| 100 50 0 0 0 0 0 0
58 |HE# tiE B | WEXFEER 150.0 0 0 0 0 0 0 0 0 0 0| 150 : 150| © 0 0 0 0 0 0 0 0 0 0 0
58 |Trh BE B |[REEK 150.0 0 0 0 0 0 0| 100: 100 0 o o o o 0 0 0 0 100; 50 0 0 0 0
58 |fER 3778 X | MKRE 150.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0| 100 50 0 0 0 0 0 0
58 |G x4 B ([ LEXAEER 150.0 0 0 0 0 0 0 0 0 0 0| 150 i 150| © 0 0 0 0 0 0 0 0 0 0
58 |F@ 7 B |BESK 150.0 0 0 0 0 0 0 0 0 0 0| 150 i 150| © 0 0 0 0 0 0 0 0 0 0
68 RO RFRiK X |ERFERKE 1200 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0o 400 20 0 0 0 0 0 0
68 |FBIEEFF X |BEEFERAZE 1200 0 0 0 0| 100; 100 0 0 0 o o o o 0 0 0| 400 20 0 0 0 0 0 0
70 |FHFL EXF B [LME&R 1100 0 0 0 0 0 0| 100; 100 0 ol 10 10] o 0 0 0 0 0 0 0 0 0 0 0
71 |8 B B |BFER 100.0 0 0 0 0 0 0| 100: 100 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
7 |EI RE X |ABRKE 100.0 0 0 0 0| 100: 100 0 0 0 0 0 of o 0 0 0 0 0 0 0 0 0 0 0
71 WA ¥ X |[dEAMHILIKRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
| RR &adH | K |[ERAMTLKRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
N |HE FER | X | AMHAIZIRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
71 |fE5h B X |BHARIEXZE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
71 (B R X |ABRKE 100.0 0 0 0 0| 100; 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
N |BRE EE X |[dEAMEILIKRE 100.0 0 0 0 0| 100; 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
| = |BIER 100.0 0 0 0 0 0 0| 100: 100 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
71 |IRiE BRI BT 100.0 0 0 0 0 0 0| 100: 100 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
M |RA BE K | KRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
| IR EED X |[dEAMEIKRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0




71 |AE KR X |[dEAMEILIKRE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
1 |#ik IS | B [ABXFEERK 100.0 0 0 0 0 0 0| 100: 100 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
71 | L% EFE X |[fEEHEXE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
71 |FL FRiE X |AMKE 100.0 0 0 0 0| 100: 100 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
87 |k & X |[fBEXZE 90.0 0 0 0 0| 40: 40 0 0 0 o o o o 0 0 0| 100 50 0 0 0 0 0 0
88 [FJIl HE X |BEEFERAZE 60.0 0 0 0 0| 400 40 0 0 0 o o o o 0 0 0| 40i 20 0 0 0 0 0 0
88 |FJII £ X |ERFERXE 60.0 0 0 0 0| 40 40 0 0 0 o o o o 0 0 0| 40i 20 0 0 0 0 0 0
88 |IEFF FEXF | K |[ARMFERKE 60.0 0 0 0 0| 400 40 0 0 0 o o o o 0 0 0| 40i 20 0 0 0 0 0 0
88 (RO &K B |AREER 60.0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0
88 |RA EEH | & |NEEEK 60.0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0
88 |HO +& B |hETEER 60.0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0
88 |—F RI X |dArMHILKRE 60.0 0 0 0 0| 40; 40 0 0 0 o o 0 0 0 0o 400 20 0 0 0 0 0 0
88 |thiEF BASE X |[AEAMEIKRE 60.0 0 0 0 0| 40; 40 0 0 0 o o 0 0 0 0o 400 20 0 0 0 0 0 0
88 [HfX A | & |[NEEEK 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |FE AXF | & |[RLEEEK 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |%# W& B |REXEEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |/l & B |FEEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 &8 BX B |[hETEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 [/IhF &KB B ([ LEXFEEK 60.0 0 0 0 0 0 0 0 0 0 0| 60 60 © 0 0 0 0 0 0 0 0 0 0 0
88 |ME IHE | & |[LMEkK 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |JIIFt Iz & |[hEEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 (/N @A B | WEXFEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
83 [HRIF F1t B |hETEER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |K# =F X |BEEFERAZE 60.0 0 0 0 0| 400 40 0 0 0 o o o o 0 0 0| 40i 20 0 0 0 0 0 0
88 | L% {6%i B |FATER 60.0 0 0 0 0 0 0 0 0 0 0| 60 60] o 0 0 0 0 0 0 0 0 0 0 0
88 |&RER FHE X |dEArMHLKRE 60.0 0 0 0 0| 40 40 0 0 0 o o o o 0 0 0| 40i 20 0 0 0 0 0 0
109 |[RHE £& X |ERFRKE 40.0 0 0 0 0| 40. 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 |FBR M1t X |BAARIXXE 40.0 0 0 0 0| 40: 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 R £FF | X [ARERKFE 40.0 0 0 0 0| 40: 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 |1RE &8 X |[BRAHEXZ 400 0 0 0 0| 400 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 |# @ X |BHERIEXZE 40.0 0 0 0 0| 40; 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 |# L K% X |[BRAHEXZ 400 0 0 0 0| 400 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0
109 |78 &F X | MK 40.0 0 0 0 0| 40. 40 0 0 0 o o o o 0 0 0 0 0 0 0 0 0 0 0




EBRERRASV X UIT R

BEFTILR
i% BEXE :F%E:ZET& EﬁEJxA BEXE :F%t:zefg EﬁEJxA
L = = mﬁl:l = J mf?l:l = = J

IR a PR wER fﬁﬁ;}f‘_ B/ 100% Bga 100% 24 100% B/ 50% B/ 50% g4 50%
1 1 |BXE —fi% [EEBEE 2900.0 | 1450.0 600 600 700 700 0 0 300 150 0 0 0 0
2 |EWl =N —fg | wE7 2900.0 | 14500 600 600 700 700 0 0 300 150 0 0 0 0
s | 8 W= | —&I|N\FTSIT74T4 2000.0 | 1000.0 400 400 400 400 0 0 400 200 0 0 0 0
4 |KiE BEF — & [\FT 574741 2000.0 | 1000.0 400 400 400 400 0 0 400 200 0 0 0 0
3 5 |&FiE &3 X |[fEEXZE 1800.0 900.0 700 700 0 0 0 0 400 200 0 0 0 0
6 |BE IME X |fFEEXE 1800.0 | 900.0 700 700 0 0 0 0 400 200 0 0 0 0
s |7 B Hh — % [/\FTHS 14000 | 700.0 0 0 500 500 0 0 400 200 0 0 0 0
8 [EE &F | —f#%|STAYGOLD 14000 | 700.0 0 0 500 500 0 0 400 200 0 0 0 0
5 9 |[M #ix —fi% |STAY GOLD 12000 | 600.0 0 0 600 600 0 0 0 0 0 0 0 0
10 |IR& ER — R |[EEARLTAERIT 1200.0 600.0 0 0 600 600 0 0 0 0 0 0 0 0
6 |1 KHE flith —fi% [EEREE 12000 | 600.0 200 200 400 400 0 0 0 0 0 0 0 0
12 b 8% — ik | EEEE 1200.0 | 600.0 200 200 400 400 0 0 0 0 0 0 0 0
;|18 [FHE fIE — i b ESEAM 10000 500.0 500 500 0 0 0 0 0 0 0 0 0 0
14 [iFF Z2F | |28 EAM 10000 | 500.0 500 500 0 0 0 0 0 0 0 0 0 0
g | 15 He BEA X |FEEXZE 1000.0 | 500.0 500 500 0 0 0 0 0 0 0 0 0 0
16 |E8 HPF | X |[EEAXZE 1000.0 500.0 500 500 0 0 0 0 0 0 0 0 0 0
o |17 g WX | R EEREE 10000 | 500.0 400 400 0 0 0 0 200 100 0 0 0 0
18 |FE)Il 85k | — R [EHEE 10000 | 500.0 400 400 0 0 0 0 200 100 0 0 0 0
0 |10 XIE 187 —#i% [STAY GOLD 10000 | 500.0 0 0 500 500 0 0 0 0 0 0 0 0
20 |fEh REF | R [BEEARSTAERIT 1000.0 500.0 0 0 500 500 0 0 0 0 0 0 0 0
|2 hEE N | AR |TU—/—F 800.0 | 400.0 300 300 0 0 0 0 200 100 0 0 0 0
22 |l BFE | & ([ZU—1—F 800.0 | 400.0 300 300 0 0 0 0 200 100 0 0 0 0
12 23 |k 12 X |fEEXZE 800.0 | 4000 400 400 0 0 0 0 0 0 0 0 0 0
24 | X8 BR X |fFEEXE 8000 | 4000 400 400 0 0 0 0 0 0 0 0 0 0
3|2 Hrh tHE — i |[EEARLToERIT 800.0| 400.0 0 0 400 400 0 0 0 0 0 0 0 0
26 |F L FLE | |BEAXRTAIRIT 800.0 | 400.0 0 0 400 400 0 0 0 0 0 0 0 0
14 27 |BH iR — i | EEARLToERIT 800.0 | 4000 400 400 0 0 0 0 0 0 0 0 0 0
28 |FH L FLE | |BEAXRSTAIRIT 800.0 | 400.0 400 400 0 0 0 0 0 0 0 0 0 0
15 29 |FAE —1h —fi% |i@E£0B 800.0 | 4000 0 0 400 400 0 0 0 0 0 0 0 0
30 |# EEK —fg | EE7 800.0 | 4000 0 0 400 400 0 0 0 0 0 0 0 0
6 |3 FO B —i% | BRyrEEERI—F 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
32 |fRIE T4 | R EEERE 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
17 33 |HH Tt X |[FEEXZE 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
34 |BEH BRE | X [EMXFE 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
18 | 3® W= AR | R ﬁsﬂ.’?%j 6000 | 3000 0 0 300 300 0 0 0 0 0 0 0 0
36 |Jki¥ BHE —f&|EAIST 600.0| 300.0 0 0 300 300 0 0 0 0 0 0 0 0
9 | %7 AR H —#% 20’ SHOT club 600.0| 3000 200 200 0 0 0 0 200 100 0 0 0 0
38 |#h RE | —#% [B-DASH 600.0| 300.0 200 200 0 0 0 0 200 100 0 0 0 0




2 39 IAK#H —fik | EEERE 600.0| 300.0 0 0 300 300 0 0 0 0 0 0 0 0
40 |FEFT BAR — ik | EEEE 6000 | 3000 0 0 300 300 0 0 0 0 0 0 0 0
01 | 41 KR st — iR | —h% 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
42 |WSRE B | A% | AR 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
99 43 |TH —#t —fi% [B-DASH 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
44 |FE I# | —#% [B-DASH 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
9 | 45 1k Bk X |BAREFKRZE 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
46 |FTH E X |BAREFKRE 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
24 47 | BB —f& |kl R 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
48 |# EE — & [£E7 600.0 | 300.0 300 300 0 0 0 0 0 0 0 0 0 0
g5 | 49 {8 thK X |fEEXZE 6000 | 3000 300 300 0 0 0 0 0 0 0 0 0 0
50 |B8 Imfh X |fFEEXE 600.0| 300.0 300 300 0 0 0 0 0 0 0 0 0 0
06 | 51 A #th | —f% |STA GOLD 600.0| 300.0 0 0 300 300 0 0 0 0 0 0 0 0
52 |18 #F | —f8|STAY GOLD 600.0| 300.0 0 0 300 300 0 0 0 0 0 0 0 0
57 | 58 LB | (R sT 6000 | 3000 0 0 300 300 0 0 0 0 0 0 0 0
54 | KA BX —f& [&hv350 600.0| 300.0 0 0 300 300 0 0 0 0 0 0 0 0
28 55 |2 H 7 — % AL A R AT 4000 | 2000 200 200 0 0 0 0 0 0 0 0 0 0
56 |BH BHF —R% b R 4000 | 2000 200 200 0 0 0 0 0 0 0 0 0 0
99 | %7 ik ER [EWAEEF:]B:E =205 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
58 [IEAX HEF | X |AMHAIKRE 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
30 59 |/ K —fi% [Be—FreeZ 4000 | 2000 200 200 0 0 0 0 0 0 0 0 0 0
60 (B thA = |EEEESK 4000| 200.0 200 200 0 0 0 0 0 0 0 0 0 0
31 61 |#LE BN X |fEEXZE 4000 | 2000 200 200 0 0 0 0 0 0 0 0 0 0
62 |RE 2% X |fFEEXE 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
3 | 63 EF = —1i% |B-DASH 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
64 |BEFd E#E | —H% |B-DASH 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
33 | 85 B IR = |BRyrEE 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
66 | EEEEX | & |BHrEER 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
2 | 67 HIF fErt | —f% |B-DASH 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
68 [ B K& —fi% |B-DASH 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
35 | 69 iQ desk | —fi% |B-DASH 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
0 (HLESE — 4% |B-DASH 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
36 | 7 HE REER | — it [ EHEE 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0
72 [#E EHD | —fE|TOTOSI LM 4000 | 200.0 200 200 0 0 0 0 0 0 0 0 0 0
37 73 |5H BB X |fFEEXZE 4000 | 2000 200 200 0 0 0 0 0 0 0 0 0 0
74 |EA BEE X |fFEEXE 4000 200.0 200 200 0 0 0 0 0 0 0 0 0 0




